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(8) | (B | (ppm) | (BFRED | (%) (H) (%) | (ppm) | (ppm) | (B x - &O) (B)
& R W= B|E 366 8,708| 0.001 of o000 0 0.0[ 0007 0.002 @) 0
& R ™|@EmEE|E 363| 8,659| 0.001 of 000 0 0.0| 0057 0.008 @) 0
€ R W[/ B|E 365 8,683| 0.001 of 000 0 0.0| 0019 0.003 @) 0
& R |4t Em[E 361| 8562| 0.001 0| 000 0 00| 0024 0003 @) 0
t B Wt ElF 366| 8,702| 0.001 0| 000 0 00| 0032 0002 @) 0
t B |/ &|E 360 8,605 0.003 12[  0.10 0 0.0| 0256 0022 (@) 0
AN TN BT 365| 8,697| 0.001 0| 000 0 00| 0.005( 0.001 (@) 0
B W EE 366 8,687| 0.001 0| 000 0 00| 0015 0.002 (@) 0
B X W|R LE|E 366/ 8702| 0.001 of 0.0 0 00| 0014 0002 O 0
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(B) | 5 [ (opm) [ (ppm) | (BERE) | (%) | (BERE) | (%) | (H) | (%) | (H) | (%) | (ppm) (H)
& R W= BlEFE 359 8474| 0005 0.039 o[ o0.00 of o000 0 0.0 0 00| 0010 0
& R H|&EEHB|E 362| 8,657| 0.008| 0.049 o[ 000 o[ 0.0 0 0.0 0 00| o018 0
€ R m|/hILFE 365| 8691 0006 0036 o[ 0.0 o[ o0.00 0 0.0 0 00| 0013 0
€ R | R|E 356| 8501| 0006 0.103 o[ 0.0 1| oot 0 0.0 0 00| 0014 0
& R W|BR &E|E 365/ 8,701| 0.008| 0.046 o[ 0.0 0| 000 0 0.0 0 00| 0017 0
& R W|&E HE 360| 8601| 0007 0.057 o| o0.00 o] 000 0 0.0 0 00| 0019 0
€ R W&t #W|E 361| 8576/ 0.006| 0.041 0| 000 o| o0.00 0 0.0 0 00| 0012 0
+ B Wt E|E 358| 8,5565| 0004 0.029 o| 0.0 o[ 000 0 0.0 0 00| 0.009 0
t E f|BE B|E 365| 8641 0003 0037 o o0.00 o[ o000 0 0.0 0 0.0| 0.006 0
AN TN RET 358| 8531 0006 0.042 o o0.00 o[ o000 0 0.0 0 00| 0013 0
B m|REF|E 365 8767 0007 0.043 0| 000 o o0.00 0 0.0 0 0.0| 0016 0
PRI PR ] 364| 8,666 0.003| 0.022 ol o0.00 0| 000 0 0.0 0 0.0| 0.006 0
B Wl 8k 366| 8,687| 0.004| 0.036 0| 000 0| 000 0 0.0 0 0.0[ 0010 0
B W oW E[HE 365 8679 0.007| 0.048 0| 000 0| 0.0 0 0.0 0 00| 0015 0
BE X W[HR L|iE 358| 8,519 0.006| 0.065 0| 000 0| 0.0 0 0.0 0 00| 0015 0
g ETE BHE 355| 8448| 0005 0.036 0| 000 0| 0.0 0 0.0 0 0.0| 0.010 0
N AT | 366 8659 0.006| 0.044 0| 0.0 o| o000 0 0.0 0 00| 0015 0
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H# =l 98%iE H#k =1E 8%
(H) | () | (epm) [ (ppm) | (ppm) | (A) | (B | (ppm) | (ppm) | (ppm) (%)
£ R M= BlE 359| 8,474] 0.000( 0.044| 0.001 359 8474| 0.005| 0075 0.011 92.2
& R W|@EmER|E 362| 8657 0.002( 0.118] 0.008 362 8657| 0011| 0.166 0.027 776
& R |/ E|E 365/ 8,691 0.001| 0029 0.004 365 8,691| 0.007| 0.060( 0018 80.0
& R Wl &|E 356| 8501 0.001| 0.141| 0.003 356| 8501 0.007| 0244 0017 92.4
€ R W[ @A|E 365/ 8,701 0.001| 0.087| 0.005 365| 8,701 0.009| 0.127| 0.021 89.3
® iR W@ #W|E 360/ 8,601 0.001| 0.091| 0.006 360| 8,601 0.009| 0.135| 0.027 84.5
& R Wi #BlE 361| 8576 0.02| 0.051| 0.004 361| 8576 0.007| 0082 0.016 78.3
t E Wt ElE 358| 8565 0.001| 0.065| 0.005 358| 8565 0.005| 0082 0014 76.2
t E WA & 365/ 8,641 0.000| 0.033| 0.003 365| 8,641 0003| 0.054| 0.009 84.7
IN R T R|ET 358| 8531 0001| 0093 0004 358| 8531| 0007| 0.135| 0017 83.0
B W|REFE 365| 8,767 0.003| 0.127| 0.011 365 8,767 0009 0.156( 0.024 734
¥ PR EE 364 8666 0000 0017 0002 364| 8666/ 0.003| 0035| 0.007 89.8
B W Wil SF 366 8,687| 0.001| 0.045( 0.004 366| 8,687 0005 0081| 0.012 80.2
B W oW M 365| 8,679 0002| 0093| 0005 365| 8679| 0.008| 0.141| 0.021 79.5
BE % W[R E|E 358| 8519 0002 0.049| 0.006 358 8519| 0.008| 0.114 0.019 78.2
E O OETE B|E 355 8,448| 0.001| 0.044( 0.003 355 8,448| 0.006| 0076 0.013 82.8
m o RT|R E|E 366| 8659 0001 0048| 0004| 366 8659| 0.007| 0087| 0018 90.0
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i ) ] 18 [ 1EFHED ﬂ%r}-i:%i%g)ﬁ 1 BRI E A
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wEr |lass R | AE e | ZODPm?Eﬁf.T: 10ppm€fﬁ§f: ED& (DFH BAa2ALE 1B FHfEA Hofor b
thigh | BHE Bz DEIE|BHETDEE| SE | 2% |EHELIED [ 10ppmEEEZ 1= a5 B
BroME AE B
(B) | B[ pm) [ (BD) | (%) H (%) | (opm) | (ppm) [ (B X - #&O) (H) (H)
& R = B|E 364| 8,667 0.1 0 0.0 0 0.0 14 03 @) 0 0
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() | (D) | (epm) [ (A) | (B | (H) | (B | (ppm) | (ppm) (ppm) (ppm)
€ R M= B|E 366| 5461 0.044 93 651 o| 000| o0.112| 0053 0.088 0.079
& R ™|@EmE[E 366 5434| 0.037 59 419 o 000| o110] 0048 0.083 0.081
& R W[/ E|E 366| 5452 0.044 93 610 o] 000| 0.115| 0054 0.087 0.083
& R W R|E 366 5.479| 0037 57| 416 ol 000| 0.106| 0.048 0.082 0.081
& R W[ER @E|E 364 5.425| 0.042 77 515 o[ 000| o110| 0.052 0.082 0.081
€ R W& #M|E 363 5412| 0.041 80 558 o[ 000| 0.107| 0.052 0.084 0.084
£ R mWfdk  EB[E 363| 5407 0045 101 697 o| 000| 0.116| 0055 0.088 0.079
t B Wt ElE 366| 5477 0.040 68 493 o| 0.00| 0.116] 0.050 0.087 0.084
N TN |#ET 366 5453 0.042 89 638 ol o000 0.109| 0053 0.086 0.081
&' WmKREFME 364| 5423 0.037 62 420 o 000| 0.105| 0.050 0.079 0.078
PRIl PO A ] 366| 5473 0.039 50 384 0| 000 0.099] 0048 0.080 0.079
B W Wl 5%k 366 5459| 0.041 77 562 o| o000| o0118] 0052 0.088 0.083
B EME 366 5475 0.037 51 380 o| 000| 0.109| 0.047 0.080 0.078
HE X W L[EF 366| 5468| 0.043 93| 584 o[ 000| 0.103| 0054 0.085 0.080
O ETE ME|E 366 5458 0.040 79 534 o| o0.00[ 0113 0051 0.090 0.084
MO RT(R E|E 361| 5375 0.039 60 416 o o0.00[ o101| 0049 0.079 0.080
FRERET(E BX 366 5473 0038 53] 394 o| o000 0108 0047 0.083 0.080
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BROMB|L-CtnEE| BA-EH
(8) | (/) (mg/m%) (B | (%) (8) (%) |(mg/m%)|(mg/m*) (Fx - £&O) (/)
& R w|= B|E 362 8711| 0014 0| 0.00 0 0.0 0.095[ 0.039 (@) 0
& R W|@EEH|E 361 8710| 0.016 of o000 0 0.0| 0096 0042 (@) 0
& R W/ B|E 363| 8737| 0016 of o000 0 0.0| 0080 0042 (@) 0
£ R W& #W|E 362| 8,701| 0015 of 0.0 0 00| o.101| 0045 (@) 0
+ B Wt E|E 362 8,711| 0016 o[ 0.0 0 00| o.101| 0048 (@) 0
€t B WX H|X 362 8,713| 0019 o[ 0.0 0 00| o0.166 0.051 (@) 0
t B W|EBER 361| 8700/ 0015 of 0.0 0 00| o0.126 0049 (@) 0
t B m|aEE S|k 362 8,716 0016 o[ 000 0 0.0| 0097 0047 @) 0
t E WA &E 362 8,714 0016 4 005 0 00| 0385 0054 (@) 0
N T BT 362| 8,708| 0015 of o0.00 0 00| 0.108| 0043 (@) 0
n B W|KREF|E 362 8714 0016 0| 000 0 0.0| 0.095| 0043 (@) 0
¥ H[H FE(E 362| 8,706 0.015 0| 0.00 0 0.0| 0.096| 0.044 O 0
B Wl 8% 362 8716 0.016 0| 000 0 0.0| 0086/ 0.039 O 0
B W oW EME 362 8704 0015 0| 000 0 0.0| 0.095| 0040 (@) 0
=N ESNITIFS 362 8,710 0017 o| 0.0 0 00| 0.109| 0.047 (@) 0
BE X W|R L[ 362| 8706 0.016 0| 000 0 0.0| 0.104| 0044 (@) 0
g ETE B|E 362 8,710 0017 0| 000 0 0.0| 0.096| 0047 (@) 0
N RT(N E|E 362 8,701 0016 0| 000 0 0.0| 0.132| 0045 (@) 0
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ZTDEE Bz 1A BA-A% DI8HIE
(B) | (B |  (ueg/m?) (8) | () (1 g/m? (ug/m® () (/) (ug/m®)
& R ™|@EEE|E 360| 8,698 10.9 1 03 35.7 28.4 0 0 28.4
& R W[/ B|E 360| 8,702 10.1 0 0.0 3438 27.4 0 0 274
& R W R|E 362| 8713 9.8 1 0.3 35.9 26.8 0 0 26.8
& R W|&E #[E 356| 8,617 10.6 1 0.3 35.7 27.4 0 0 274
€ R Wit E#W[E 357| 8,607 105 1 0.3 37.9 28.8 0 0 288
t B Wt E|E 357| 8,625 125 3 0.8 40.7 33.8 0 0 338
AN R TI[ RET 349| 8472 10.8 1 0.3 35.4 26.8 0 0 26.8
WS W B[R 362| 8,700 9.7 2 0.6 374 273 0 0 27.3
E> 31 I 1 B2 ] B S 360 8,666 9.5 1 0.3 37.9 295 0 0 295
B wmREFHE 362| 8,702 114 1 0.3 35.7 29.9 0 0 29.9
FOE A E|E 361| 8,698 11.6 2 0.6 36.1 305 0 0 305
B W W EME 361 8,689 12.0 1 0.3 385 298 0 0 29.8
g ET[E E[E 362| 8,702 10.1 1 0.3 38.0 288 0 0 28.8
MO BTN E|E 362| 8,701 10.6 1 0.3 35.3 29.1 0 0 29.1
) IBEREOREHMNHEICES1 B EENS L e/m EBA BRIEIE. 1RO BEHEDSHENEAH8%DE
BEI<&H-oT. MD. 3B ueg/m BB,
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6~ OB 6~ORF3HFfE] | 6~ ORF3HFF
RE TR e 6~9FF| 6~ 9FF3EFH FEHEHN EHEH
s Jzzhed | BIE SEHE 0.20ppmC%#2 | 0.31ppmCZEHA
T AR g | B | B BEF| By xf-BME | xf-BHME
i EEE|BEE| tofs ZOEA
(B%5FE) | (ppmC)| (ppmC)| (B) | (ppmC)| (ppmC)| (H) (%) () (%)
& R W= B|E 8604 011 0.12 362 030 002 15 41 0 0.0
t E WX H[X 8,724 0.06| 0.06 365| 0.15| 0.2 0 0.0 0 0.0
Mo ET|N T 8712 007 0.9 366 021 000 1 03 0 0.0
9) A2 RULRILKF
AR £ixibkE
. 2| e Lomec |80 (6 ops | 6~opsamsha | | o |00 o ops | 6~omsarsng
s | BEO L s | BB [
el | &IEE e iE| RIEE
(BFfE) | (ppmC)| (ppmC)| (H) | (ppmC)| (ppmC)| (B | (ppmC)| (ppmC)| (H) | (ppmC)| (ppmC)
£ R M|= BlE 8,604 1.99] 1.99 362| 2.18| 182 8604 210[ 211 362 244 192
+ E WX H|X 8724 190 191 365 210| 180| 8724 196 198] 365 221 185
M RTINS EME 8712 193] 195 366| 234 178 8712 200| 204 366 248| 184
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ZNDEE B %
(B) | E&RED [ (pm) | (opm) | (EERS) | (%) | (BERE) | (%) ()] (%) =) (%) (ppm) D)
% R m|(B)RE |& 365| 8,684] 0023 0.083 0 0.00 0 0.00 0 0.0 1 0.3] 0.036 0
& R m|(B)RET |7 364] 8674 0031 0224 3 0.00 234 2.70 0 0.0 61 16.8] 0.049 0
& R m(B)uF [F 357 8496 0.006( 0037 0 0.00 0 0.00 0 0.0 0 00| 0.011 0
Frmh|(B)FLH|E 366 8699] 0017 0.067 o[ o000 ol 0.00 0 0.0 0 0.0] 0.031 0
3E) T98% Bk 51 B FfEA0.06ppmZEB A=A IEIE. 1ERD1BEHEDNSIE9I8%DEHEIZH T, HhD. 0.06ppmZEBZ-LDDEMTHS,
(2) —BILEZRRUEZRRIEY
— 1L ZER(NO) ZEFREIEYNO+NO2)
v | amm [P S | mm | wm [(FIUEAES i | mmw | ww [(SIETAES) egge
FER | B il & & RHoau{E EBH i & & R0 NO2/(NO+NO2)
(/) (B | eem) | (pm) | (ppm) (8) (B5FE) | Gepm) | (ppm) | (ppm) (%)
£ R M|(BEE & 365/ 8,684 0017 0.153| 0.031 365| 8,684] 0.040| 0.204| 0.061 58.3
& R m|(B)RAET |7 364| 8,674] 0027 0.355| 0.051 364 8,674 0058 0579] 0.097 53.9
& R m|(B)WFE [E 357 8496 0002 0075| 0.006 357| 8496 0.008] 0.094] 0016 69.3
Framm|(E)FaH|{E 366] 8,699 0017| 0.257] 0.046 366] 8,699 0034 0319 0074 50.0
Q) —EfbmE
T 16 = N o | 1EERSE
B | g o |EPamAR0ppmE| T EFIEA | pepnp | gy | TETOMEA | EEREORME | 00
o ome | BEE | £ flar 10ppm% figdin 10ppmZ 82 1= A AS| 5EMfiIc & 51 B Ey) ! iy
. ma| AE ’s @ | BAEEBEED [ oot | ORE | OFM | U0 L Ve |msiomend s | 2LERD
wEr | mER A% 5 & S 2A1cE & 2% Zooan [IBANOpemE R AT - L pidp
k! = z0EE Li-CenBE B -
ERoME SR
@) | @D [ (em) | (@D (%) =} %) | Gpm) | (ppm) (Bx - £O) =) =)
& R m|(B)EE 366| 8,727 0.4 0 0.00 0 0.0 4.0 0.6 O 0 0
& R W|(B)HET & 365] 8,721 0.8 0 0.00 0 0.0 95 1.6 O 0 0
& R m|(B)F [ 366] 8,734 0.2 0 0.00 0 0.0 0.8 0.3 O 0 0
FHah|(B)FaH|E 366 8,758 0.3 0 0.00 0 0.0 2.0 0.5 @) 0 0
F) TREBREORBMIMICES 1 BEHEN0ppmEBZ-BHIEIE. 1B THEDS VAL D2%OFHED 1 B FHEZRN L1 BEHBEDSS510ppmEE A - B3
THb.
1=12L. 1B FA9{EA 10ppmZE B B A2 B LU EEHLIEEXBHMDSE. 2% S HIZAS TS BES T DN TIZRILELY,
(4) Sk 7RIS ‘ ,
w9 | e | oo BB | 1RTSEA | qesp BFS[  TERBES ] BELEOER
. it BIER | £11 3 - 3 - = fED  |0.10mg/m*E Bz 1= FHMEICKD1BHFY
THET AT R Iglg il g [020me/m éﬂilz'l: 0-10mg/m E’Eij’: 0)1{:@ F/H2% (A28 LI EEHL| EA0.10mg/m*%E
Hhigh HEMEZOEE | BHREZDEIS E B A Py Pt
(8) (B | (mg/m®) | (B5R) (%) (") (%) | (mg/m%) | (mg/m% (BEx - #&O) (8)
+ R m|(B)RE |& 362| 8721] 0015 0 0.00 0 0.0| o0.102] 0.038 (@) 0
& R W|(B)RET @& 361] 8,705/ 0.026 83 0.95 1 0.3 0.408] 0.071 O 0
£ R m|(B)FE [ 361] 8,712 0.012 0 0.00 0 00| 0.141| 0034 O 0
FHrmh|(E)FLH|E 362| 8710 0.018 ol 000 0 0.0| o0.115] 0.045 @) 0

) TBEREORANHEICKS1 B FHEA0.10meg/m £ BA - AHIEE. 1 BEHEDE A AD2%DFHEND 1 B F 1
HBA-BHTHD,
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o . o | BEEEO RSN rE s = EHEELEIT
| g TEESWA | g | 18T T amicss | REEBAC | ansgsos,
, ma| ME | G |EToem| PAEmE | e | S0l | 1BFmES e | omEBAEEE
W | AER || Bm | HE BALRAL | g | T ssuem'E SugmE | i BEE
ZTDEIE & B3 7-B% BB 0398%11.5
B) | BB |(ug/md| (B) (%) | (ue/m®|(1re/m? (a) (B) (ug/md
£ R m|(BHW# |E 361 8,708 8.6 0 0.0 30.3 25.0 0 0 25.0
Famh|EHah|{E 360 8,684 115 0 0.0 35.0 28.7 0 0 28.7
) MEBgEEQRMETMICES1 BEYEASS ue/m EBAT-BHIEIT. I ERD1BEHEDSEHENAHDI8%DEHEIH>T, A2, 3B ue/m’E
BA-BH,
(6) FEAZ 2 imibKE
6~OBFIZ| ¢ ope 6~ O3 T | 6~9BF3BFRIT 1
| RIERE | F£FY | 11D A5 El 6~ OFF3RFMEIFI9ME| {EHY0.200pmC%E | {EHY0.31ppmCH
war | mem |PE| M o | &3 | Ty BAEHE BAEHE
Hhtef & S=lE | SEE ZDEE ZDEE
(B5f8) | (ppmC) | (ppmC) (H) (ppmC) | (ppmC) (a) (%) (a/) (%)
€ R m|(BEE |& 8,690 0.13 0.12 365 0.28| 003 9 2.5 0 0
() A3 RUERIEKSE
5o ES A
i N 6~ BIZ) 6 opy
o | WER | £T [ S5 | o0 |o~ORIHMTE| B | £I [ S5 | o0 |6~ IHIHMTLIE
mEr RER |y R | ®F | TE 5 B | &3 | T
& RElt | REE 8 BalE | &EE
(B5F8) | (ppmC) | (ppmC) (H) (ppmC) | (ppmC) | (B%fE) | (ppmC) | (ppmC) (H) (ppmC) | (ppmC)
€ R m|(BEE |& 8,690 1.94 1.94 365 2.09 1.77| 8,690 2.07 2.06 365 2.36 1.91
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(1) —BieRE (FFEHE)

AT AER A& £ FE 5 B (ppm)

Hhtel | S g 848 e | SR 94F B | T RR204E B | i1 4 | ERi224 B | ERi23 i | ERioatE i | ERios R | ERi26 | ER21EE

& R = ElE 0.004 0.002 0.001 0.001 0.001 0.001 0.001 0.001 0.001 0.001
& R W@ m OSE 0.002 0.002 0.001 0.001 0.001 0.002 0.001 0.001 0.002 0.001
& R W Z B|E 0.002 0.001 0.001 0.001 0.001 0.001 0.001 0.001 0.001 0.001
& iR |k =4 0.002 0.002 0.002 0.001 0.002 0.002 0.002 0.002 0.002 0.001
+ B m|t Bl 0.002 0.001 0.001 0.001 0.001 0.001 0.001 0.001 0.001 0.001
+ B e & B|X 0.000 0.000 0.000 0.000 0.000 0.000
+ B &/ I |1 0.003 0.003 0.002 0.002 0.002 0.004 0.003 0.002 0.002 0.003
WA i N wlET 0.001 0.001 0.001 0.001 0.001 0.001 0.001 0.001 0.000 0.001
moE HlK B OFHE 0.001 0.001 0.001 0.001 0.000 0.001
ST e | 0.002 0.001 0.001 0.001 0.001 0.001 0.001 0.001 0.001 0.001
B oW |E JMES 0.003 0.002 0.001 0.001 0.001
B £ 4R & 0.002 0.002 0.001 0.001 0.001 0.001 0.001 0.001 0.001 0.001

2 ZEERE (1 HEHEDOER 2 %ERIME) (BRIEE¥ - 0. 04ppmLL )

- awg |BE 1B FHIEDERI2%ERME (ppm)

gt | Eppise | ERp10E | TroE | TR £k | TrEE| TrsEk| TRk | ErosE | TReE | TR21ERE

& R W= ElE 0.006 0.006 0.003 0.004 0.004 0.002 0.002 0.003 0.002 0.002
& R W@ m OBME 0.005 0.005 0.004 0.005 0.005 0.005 0.004 0.006 0.009 0.008
& R W Z B|E 0.006 0.005 0.004 0.005 0.005 0.004 0.004 0.004 0.003 0.003
& iR |k |4 0.004 0.005 0.004 0.004 0.004 0.006 0.004 0.005 0.004 0.003
+ B |t B 0.005 0.003 0.003 0.002 0.003 0.003 0.003 0.003 0.003 0.002
+ B i & B|X 0.002 0.002 0.001 0.002 0.002 0.002
+ B W& 5|4 0.013 0.016 0.010 0.014 0.016 0.026 0.022 0.014 0.013 0.022
WA 7 m|ET 0.005 0.003 0.002 0.002 0.002 0.002 0.002 0.002 0.002 0.001
moE HlK B OFME 0.003 0.003 0.002 0.002 0.002 0.002
ST EN £ 0.006 0.003 0.003 0.003 0.003 0.003 0.003 0.002 0.002 0.002
ST ES JIES 0.008 0.005 0.004 0.004 0.003
B £ 4R i 0.006 0.006 0.004 0.004 0.003 0.003 0.002 0.003 0.003 0.002




Q) ZBILER (FTHIE)

AT AER A& £ FE B {E (ppm)
Hteh | S g 848 e | R 948 B | ERR204E B | i1 4 | ERi22 4 B | ERi23 i | ERioatE i | ERios R | FR26 R | ER21EE

& R W= ElE 0.009 0.008 0.008 0.007 0.007 0.006 0.006 0.006 0.005 0.005
& R W@ m OSE 0.016 0.014 0.012 0.010 0.010 0.010 0.010 0.010 0.009 0.008
& R W I B|E 0.010 0.009 0.008 0.007 0.007 0.006 0.006 0.006 0.006 0.006
& SR | f|{E 0.012 0.010 0.010 0.009 0.009 0.008 0.008 0.007 0.007 0.006
& iR &R Fic) (=3 0.015 0.013 0.012 0.011 0.011 0.010 0.009 0.009 0.009 0.008
& iR @ =4 0.012 0.011 0.010 0.009 0.009 0.008 0.008 0.008 0.009 0.007
& iR |k =4 0.009 0.008 0.007 0.007 0.006 0.005 0.004 0.005 0.006 0.006
+ B |t Bl 0.007 0.007 0.007 0.006 0.005 0.005 0.005 0.005 0.005 0.004
+ B e & B|X 0.002 0.002 0.002 0.002 0.002 0.002
+ B &/ I |1 0.004 0.004 0.004 0.004 0.004 0.004 0.003 0.003 0.003 0.003
WA /i N mlET 0.010 0.009 0.008 0.008 0.007 0.008 0.006 0.006 0.006 0.006
moE H|K OB OF[E 0.013 0.012 0.011 0.010 0.010 0.009 0.009 0.008 0.007 0.007
¥ | vE |75 0.005 0.005 0.004 0.004 0.004 0.004 0.003 0.003 0.004 0.003
B LW |l B|* 0.005 0.005 0.005 0.004 0.004
B e | 0.013 0.012 0.010 0.009 0.009 0.008 0.008 0.007 0.007 0.007
B oW |E JMES 0.013 0.010 0.008 0.008 0.008
B £ |4 | 0.010 0.009 0.008 0.008 0.008 0.008 0.007 0.006 0.007 0.006
2 iE RT|R 1% |1 0.011 0.009 0.008 0.007 0.006 0.006 0.006 0.005 0.005 0.005
Mo RT|R [ 0.010 0.009 0.009 0.008 0.008 0.007 0.007 0.007 0.007 0.006
& B AT |FE Blx 0.003 0.003 0.002 0.002 0.002 0.002

4) —EBEEFR (1 BEHEDERISWIE) (BBEE% . 0. 04ppm~0. 06ppmLL )

AT AEs A& 1B FEHEDEMRI8%IE (ppm)

sl | Fpr1s4E | FAR194 B | TRko0 s B | TRk | T rtoo B | Frtos i | Erkoatr i | Erkos | ER26E B | TR27EE

& R = HIE 0.020 0.016 0.016 0.014 0.015 0.014 0.014 0.013 0.010 0.010
& R W@ B OE|E 0.032 0.028 0.023 0.022 0.027 0.022 0.020 0.021 0.021 0.018
& R W I B|E 0.025 0.019 0.019 0.014 0.016 0.016 0.015 0.013 0.014 0.013
o ®|f& 0.022 0.020 0.019 0.018 0.019 0.017 0.016 0.016 0.016 0.014
& R (&R A 0.027 0.025 0.023 0.022 0.024 0.020 0.020 0.017 0.018 0.017
& iR (& |4 0.029 0.026 0.024 0.022 0.024 0.023 0.023 0.020 0.022 0.019
& iR |k |4 0.020 0.016 0.016 0.016 0.015 0.009 0.008 0.013 0.013 0.012
+ B |t B 0.015 0.014 0.015 0.014 0.013 0.012 0.012 0.012 0.011 0.009
+ B i & B|X 0.005 0.005 0.005 0.004 0.005 0.004
+ B W& 5|4 0.010 0.010 0.011 0.009 0.010 0.009 0.009 0.008 0.008 0.006
VA i m|ET 0.020 0.020 0.017 0.017 0.019 0.019 0.014 0.012 0.015 0.013
moE HK B OFME 0.025 0.022 0.020 0.020 0.020 0.018 0.017 0.015 0.016 0.016
¥ | e |7 0.011 0.010 0.009 0.008 0.008 0.008 0.007 0.008 0.009 0.006
SITTR 1 T B|* 0.012 0.011 0.012 0.010 0.010
B A |1 0.024 0.023 0.021 0.019 0.021 0.019 0.018 0.015 0.022 0.015
ST ES JIES 0.024 0.021 0.017 0.017 0.027
B X |4 i I 0.021 0.021 0.019 0.018 0.019 0.017 0.015 0.015 0.016 0.015
2 0% RT|E 1% |1 0.022 0.020 0.016 0.015 0.014 0.012 0.012 0.012 0.014 0.010
Mo TR [ 0.025 0.021 0.021 0.020 0.021 0.018 0.018 0.017 0.019 0.015
e BT | BE SIES 0.007 0.006 0.005 0.005 0.005 0.005




6) —BILER (FEHIE)

AT AER & £ F ¥ B (ppm)

Hbtel | S g 848 e | R 948 B | ERR204E B | i1 4 | ERi22 4 B | ERi23 i | ERioatE i | ERios R | FR26 R | ER21EE
€ R m|= BlE 0.003 0.001 0.001 0.001 0.001 0.001 0.001 0.001 0.000 0.000
€ R Wl m H|E 0.007 0.007 0.005 0.005 0.004 0.003 0.003 0.003 0.003 0.002
€ R Wl xZ BH|E 0.003 0.002 0.002 0.001 0.001 0.002 0.003 0.002 0.001 0.001
& iR ™% r|E 0.001 0.001 0.001 0.001 0.001 0.001 0.001 0.001 0.001 0.001
& iR m|8R [ric] [E2 0.004 0.003 0.003 0.002 0.002 0.002 0.002 0.001 0.001 0.001
& iR m|& EB[1E 0.004 0.003 0.003 0.002 0.002 0.002 0.002 0.002 0.002 0.001
€ iR ™|t EB[1E 0.002 0.002 0.002 0.002 0.002 0.001 0.001 0.001 0.002 0.002
t B m|t BlE 0.003 0.003 0.003 0.003 0.002 0.002 0.001 0.001 0.001 0.001
t B m|gE & B|X 0.000 0.000 0.000 0.000 0.000 0.000
t B WA I3 FE 0.001 0.001 0.001 0.001 0.001 0.001 0.001 0.001 0.001 0.000
ANy T W|ET 0.003 0.002 0.002 0.002 0.001 0.002 0.001 0.001 0.001 0.001
& WX E OFE 0.009 0.007 0.006 0.005 0.005 0.004 0.003 0.003 0.003 0.003
¥ M| 0.001 0.001 0.001 0.000 0.000 0.000 0.000 0.000 0.001 0.000
=TT 1] I=1ES 0.001 0.001 0.002 0.001 0.001
= INTTI 1 PN £[1x 0.003 0.003 0.003 0.003 0.003 0.003 0.002 0.002 0.002 0.002
=TT ES MY ES 0.004 0.002 0.002 0.002 0.001
B = TR E|E 0.003 0.002 0.002 0.002 0.002 0.002 0.002 0.002 0.002 0.002
b= P 1 1% 0.002 0.002 0.001 0.001 0.001 0.001 0.002 0.001 0.001 0.001
M E ET(A | 0.002 0.001 0.002 0.001 0.001 0.001 0.001 0.001 0.001 0.001
o e E BT (R Blx 0.000 0.000 0.000 0.000 0.000 0.000

(6) ZEHEALY (FTHIE)

AT AR A& £ F ¥ {E (ppm)

Hbteh | S g 848 e | S A1 948 B | T RR204E | 21 4 | A2 B | ERi2a e | ERioatE e | ERios R | FRi26 R | ER2IEE
& R #m|= BlE 0.011 0.009 0.009 0.008 0.007 0.007 0.007 0.006 0.006 0.005
& R Wm|E m EH|E 0.024 0.021 0.017 0.015 0.014 0.013 0.013 0.013 0.012 0.011
& R W/ I BH|E 0.013 0.011 0.009 0.008 0.008 0.008 0.009 0.008 0.008 0.007
& R m|% 3 fES 0.013 0.012 0.011 0.010 0.010 0.009 0.008 0.008 0.008 0.007
& iR ™8R fic] RS 0.019 0.016 0.015 0.013 0.013 0.012 0.011 0.010 0.010 0.009
& R ™W|E&E EB|E 0.016 0.014 0.013 0.011 0.011 0.010 0.010 0.010 0.010 0.009
& R mldt EB|E 0.012 0.010 0.009 0.009 0.008 0.006 0.005 0.007 0.008 0.007
t B m|t Bl 0.011 0.010 0.010 0.009 0.007 0.007 0.006 0.006 0.006 0.005
t B m|gE & B|X 0.002 0.002 0.002 0.002 0.002 0.002
t B WA 5 1E 0.006 0.005 0.006 0.004 0.005 0.004 0.004 0.004 0.004 0.003
R VNI N W|ET 0.013 0.011 0.010 0.009 0.009 0.009 0.007 0.006 0.007 0.007
m B WK OB OFME 0.023 0.019 0.017 0.016 0.015 0.013 0.012 0.011 0.010 0.009
DI PP M| 0.006 0.005 0.005 0.004 0.004 0.004 0.004 0.004 0.005 0.003
=TT 1] B|x 0.006 0.006 0.007 0.005 0.005
= INTTI 1 PN F|1E 0.017 0.015 0.013 0.012 0.012 0.011 0.010 0.008 0.009 0.008
= INTT ] ES JIl|& 0.016 0.012 0.011 0.009 0.010
BE & ™R LlE 0.013 0.011 0.010 0.010 0.009 0.010 0.008 0.008 0.009 0.008
g AR & |1E 0.013 0.011 0.009 0.008 0.008 0.007 0.007 0.007 0.006 0.006
M ET(A A RE 0.013 0.010 0.011 0.009 0.009 0.009 0.008 0.008 0.008 0.007
o BE B BT [ B Z1ES 0.003 0.003 0.003 0.002 0.003 0.003




(1) —EieE (FTHIE)

AT AER A& £ FE 5 {E (ppm)
~ Hbteh | S g 848 e | 1948 B | ERR204E B | 21 4 | ERi22 4 B | ERi23 i | ERioatE i | ERios R | ER2e | ER21EE
& R W= Bl 0.3 0.3 0.3 0.2 0.2 0.2 0.2 0.2 0.1 0.1
(8) —Eibik®zE (1 HIEMIED FER 2 %RIME) GRIZEXE . 10ppmLLT)
s | mem |PE THFEEDEM2%BAE (o)
Hbtel | S g 848 e | 1 94F B | T RR204E | TERi21 4 | ERi22 4 B | ERi23 i | ERioatE i | ERios R | ERi26 R | ER21EE
& R W= Bl 0.5 0.4 0.4 0.4 0.4 0.4 0.4 0.5 0.3 0.3
9) HEZAXIH b (BRED 1 BEEEDEFYE)
AT AER A& BREIDIBEEEDEFHIE (ppm)
g Mol | 18| TR0t R | TRi204 R | TRt R | TR224E R | TR20 4 R | T R4 4R | T Ri254E FE | T R26 4 | T R274E R
£ R M= BlE 0.037 0.039 0.036 0.037 0.037 0.032 0.033 0.032 0.031 0.044
% R m|@E @ |E 0.034 0.035 0.034 0.036 0.037 0.034 0.036 0.035 0.039 0.037
& iR ®m|/h 3 BH|E 0.032 0.034 0.033 0.035 0.036 0.036 0.041 0.041 0.039 0.044
& R | x[{E 0.035 0.036 0.037 0.038 0.039 0.036 0.038 0.038 0.038 0.037
& R ™8R fiic] RES 0.031 0.035 0.034 0.036 0.036 0.034 0.038 0.039 0.041 0.042
& R ™W|#&E EBE 0.037 0.039 0.040 0.040 0.036 0.038 0.043 0.043 0.042 0.041
& R mldt EBE 0.036 0.037 0.037 0.040 0.039 0.037 0.038 0.032 0.041 0.045
t B M|t =4 S 0.034 0.036 0.037 0.038 0.037 0.036 0.039 0.041 0.038 0.040
t B mW|X E1ES 0.039 0.039 0.037 0.042 0.041
t B wWE B KX 0.037 0.033 0.039 0.037 0.035
t B g & Bk 0.035 0.039 0.035 0.038 0.040 0.035
RN N WET 0.035 0.037 0.037 0.038 0.036 0.032 0.034 0.029 0.038 0.042
mE mX B OFE 0.030 0.032 0.029 0.033 0.032 0.030 0.031 0.031 0.030 0.037
DI PP M| 0.035 0.042 0.042 0.044 0.041 0.037 0.040 0.033 0.038 0.039
B W Bl*x 0.038 0.035 0.038 0.037 0.037 0.036 0.034 0.031 0.041 0.041
= INTT 1 PN F|1E 0.034 0.038 0.039 0.041 0.038 0.035 0.038 0.037 0.036 0.037
B W mE JIl|& 0.030 0.038 0.038 0.037 0.039
BE & ™R lE 0.036 0.036 0.039 0.039 0.036 0.034 0.032 0.032 0.040 0.043
E g ETE ] FES 0.033 0.035 0.035 0.040 0.035 0.033 0.037 0.037 0.037 0.040
AN ET|A p: 4 RE 0.031 0.038 0.039 0.042 0.039 0.036 0.039 0.040 0.036 0.039
FEEEET|S = ES 0.035 0.041
o BE B BT (B Bl*x 0.046 0.045 0.040 0.041 0.041 0.040 0.043 0.041 0.038 0.038
(10) ZeEAXLHF L+ (REDBES 1 BEEQEFEHE)
AT A A& RO B &S 1HEEOEFHE (ppm)
sl | Epr1a4E | FAR194F | T Rko0 s B | TRk | T rroo e | T rtos i | Erkoat e | Erkos i | ER264E B | ER27EE
& R W= BlE 0.050 0.051 0.047 0.047 0.047 0.041 0.042 0.041 0.039 0.053
& R Wm|@E m EHE 0.048 0.048 0.047 0.048 0.049 0.046 0.047 0.044 0.051 0.048
& R Wl I BH|E 0.042 0.046 0.045 0.045 0.047 0.047 0.052 0.051 0.049 0.054
& R M|$ B fES 0.049 0.049 0.050 0.051 0.051 0.048 0.050 0.050 0.049 0.048
& R (&R fic] RS 0.042 0.047 0.046 0.048 0.047 0.045 0.048 0.049 0.051 0.052
& R ™A@ EB|1E 0.051 0.053 0.053 0.053 0.048 0.050 0.054 0.054 0.053 0.052
& R mldt EB|1E 0.049 0.050 0.049 0.052 0.050 0.048 0.049 0.041 0.052 0.055
+ B M|t Bl 0.045 0.048 0.049 0.049 0.047 0.045 0.050 0.052 0.049 0.050
+ B mW|X H|% 0.050 0.050 0.047 0.053 0.051
t B wWE B KX 0.049 0.044 0.052 0.048 0.046
t B #i|gE & B|X 0.044 0.050 0.046 0.047 0.051 0.045
IRV N W|ET 0.048 0.050 0.050 0.049 0.048 0.042 0.044 0.037 0.050 0.053
mE mXx B OFE 0.044 0.046 0.042 0.046 0.045 0.042 0.043 0.042 0.041 0.050
O M| 0.044 0.052 0.053 0.054 0.051 0.045 0.050 0.041 0.047 0.048
B W Bl*x 0.050 0.045 0.050 0.048 0.048 0.047 0.044 0.040 0.051 0.052
=IRTT 1 PN F[1E 0.046 0.051 0.053 0.053 0.049 0.046 0.049 0.048 0.046 0.047
= INTTG ] ES IMNES 0.041 0.051 0.050 0.048 0.051
BE & ™R ElE 0.049 0.048 0.052 0.051 0.047 0.045 0.041 0.041 0.052 0.054
E O OETE &£ 0.046 0.049 0.048 0.054 0.047 0.044 0.048 0.049 0.049 0.051
M # ET(A #|E 0.042 0.051 0.052 0.055 0.052 0.047 0.051 0.051 0.047 0.049
FEEZHET|S B|x 0.046 0.053
o BE B ET [ B Bl*x 0.057 0.056 0.051 0.051 0.051 0.049 0.053 0.051 0.047 0.047




an ffeEAXSF b (BEO 1 EEIBEAO0. 12ppmil £ D H )

AT AER & BREID 1B EH0.120pmLl LD B % (B)
- Htel | S g 848 e | 1948 B | ERR204E B | i1 4 | ERi224 B | ERi23 i | ERioatE i | ERios R | ER26 R | ER21EE
£ R W= HIE 0 0 0 0 0 0 0 0 0 0
& R W@ m OSE 0 0 0 0 0 0 0 0 0 0
& R W I B|E 0 0 0 0 0 0 0 0 0 0
& SR | ke 0 0 0 0 0 0 0 0 0 0
& R (&R 7| 0 0 0 0 0 0 0 0 0 0
& iR @ |4 0 0 0 0 0 0 0 0 0 0
& iR |k |4 0 0 0 0 0 0 0 0 0 0
+ B |t Bl 0 0 0 0 0 0 0 0 0 0
+ B X ] B 0 0 0 0 0
+ B B 8 EX 0 0 0 0 0
+ B i & B|X 0 1 0 0 0 0
WA i m|ET 0 0 0 0 0 0 0 0 0 0
moE WK EOFE 0 0 0 0 0 0 0 0 0 0
¥ | e | 0 0 0 0 0 0 0 0 0 0
B LW |l B|® 0 0 0 0 0 0 0 0 0 0
ST e £ 0 0 0 0 0 0 0 0 0 0
ST ES JMES 0 0 0 0 0
B %= W[4 | 0 0 0 0 0 0 0 0 0 0
2 iE RT|R |1 0 0 0 0 0 0 0 0 0 0
Mo BT[N [ 0 0 0 0 0 0 0 0 0 0
hEEEET| B I=HES 0 1
e BT | BE SIES 0 1 0 0 0 0 0 0 0 0
(12) A XIAF U+ CHBEENHESERERI/I—t 2 1 ILE)
AT Awm A& SEFMEIED A= ED FEMII/N—t 2 )LIE (ppm)
gl | Fpr1e4E | FAR194 B | TRko0 s B | TRk | T rroo e | T rtos i | Erkoat i | ErkosE i | ER26E B | TR27EE
& R wW|= HIE 0.078 0.082 0.079 0.088 0.084 0.077 0.076 0.074 0.076 0.088
& R W@ B OE|E 0.077 0.084 0.077 0.081 0.075 0.083 0.076 0.074 0.087 0.083
& R W I B|E 0.064 0.078 0.076 0.087 0.075 0.079 0.081 0.081 0.080 0.087
o ke 0.076 0.080 0.082 0.086 0.078 0.082 0.081 0.077 0.085 0.082
& R (&R Fic) (3 0.066 0.080 0.075 0.081 0.075 0.076 0.075 0.078 0.082 0.082
& R (@ 3l 0.079 0.086 0.089 0.087 0.074 0.085 0.080 0.082 0.087 0.084
& R |k |4 0.077 0.082 0.075 0.088 0.072 0.082 0.080 0.066 0.084 0.088
+ B |t Bl 0.072 0.078 0.087 0.086 0.079 0.076 0.075 0.083 0.081 0.087
+ B X H (% 0.074 0.086 0.083 0.095 0.080
+ B B B EX 0.080 0.071 0.086 0.088 0.081
+ B wilee & B|X 0.072 0.089 0.078 0.089 0.080 0.076
VA 7 m|ET 0.076 0.082 0.083 0.084 0.082 0.078 0.076 0.072 0.085 0.086
moE HK B OFME 0.070 0.075 0.072 0.083 0.074 0.071 0.073 0.077 0.077 0.079
Rl B e |7 0.066 0.081 0.087 0.094 0.080 0.074 0.074 0.078 0.078 0.080
SITTR 1 T Bl*x 0.076 0.078 0.080 0.088 0.086 0.084 0.077 0.073 0.089 0.088
B A |1 0.067 0.087 0.080 0.088 0.078 0.077 0.076 0.074 0.081 0.080
ST ES JES 0.065 0.087 0.077 0.085 0.077
B % m[#R i 0.075 0.076 0.081 0.086 0.078 0.076 0.075 0.071 0.083 0.085
2 0% RT|E 1% |1 0.074 0.083 0.078 0.091 0.081 0.078 0.081 0.078 0.083 0.090
Mo TR #|1x 0.069 0.077 0.087 0.092 0.082 0.079 0.077 0.077 0.085 0.079
FEEE BT S = ES 0.081 0.081
e BT | BE Blx 0.088 0.096 0.087 0.091 0.078 0.084 0.080 0.078 0.079 0.083




(13) fE2AFLF b CEMEDHESENEMIVI—t 2 1 ILEDIFEFY)

AT AER A& SEEREED H RS EDERMI/ S—t 2 ILIE (ppm)
#ig (Epp16~ [Em17~ [Et1s~ [FER19~ [FR20~ |FER21~ |Fri22~ |Fri23~ |FEm24~ [FEm25~
184ERE|  194ERE|  204FRE|  214ERE|  2ofERE| 28R 24%RE|  o5EREE|  26sEE|  21EE
& R ®|= HE 0.088 0.083 0.080 0.083 0.084 0.083 0.079 0.076 0.075 0.079
& R W|@E @ [ 0.068 0.074 0.079 0.081 0.078 0.080 0.078 0.078 0.079 0.081
& SR Wl X BH|E 0.065 0.068 0.073 0.080 0.079 0.080 0.078 0.080 0.081 0.083
& R |$ e[ 0.076 0.075 0.079 0.083 0.082 0.082 0.080 0.080 0.081 0.081
£ R (&R A 0.066 0.069 0.074 0.079 0.077 0.077 0.075 0.076 0.078 0.081
& R (A |1 0.081 0.081 0.085 0.087 0.083 0.082 0.080 0.082 0.083 0.084
£ R i |1 0.081 0.079 0.078 0.082 0.078 0.081 0.078 0.076 0.077 0.079
+ B m|t Bl 0.077 0.076 0.079 0.084 0.084 0.080 0.077 0.078 0.080 0.084
+ B K ] E 0.085 0.083 0.081 0.088 0.086
+ B h|E B EX 0.081 0.076 0.079 0.082 0.085
+ B WlaE & B[k 0.082 0.081 0.080 0.085 0.082 0.082
N Ry T wl#ET | 0084 0.081 0.080 0.083 0.083 0.081 0.079 0.075 0.078 0.081
moE H|K OB OF[E 0.078 0.075 0.072 0.077 0.076 0.076 0.073 0.074 0.076 0.078
B ¥ H|H (e 0.071 0.074 0.078 0.087 0.087 0.083 0.076 0.075 0.077 0.079
SR T Bl*x 0.078 0.078 0.078 0.082 0.085 0.086 0.082 0.078 0.080 0.083
ERTTIGEN |1 0.072 0.075 0.078 0.085 0.082 0.081 0.077 0.076 0.077 0.078
SR ES n|% 0.066 0.073 0.076 0.083 0.080
B £ |4 i I 0.077 0.075 0.077 0.081 0.082 0.080 0.076 0.074 0.076 0.080
b= = 8|1 0.076 0.078 0.078 0.084 0.083 0.083 0.080 0.079 0.081 0.084
Mo R #|x 0.072 0.072 0.078 0.085 0.087 0.084 0.079 0.078 0.080 0.080
FEEEET|S = ES 0.078 0.081
thgE B AT |FE Blx 0.091 0.091 0.090 0.091 0.085 0.084 0.081 0.081 0.079 0.080
(14) FERFRYE (EFHIE)
| mes |FE E ¥ B 1B (mg/md)
g | s | Eavo s | ERooEE| TR E k| Trooa | TrosE | EroasE| ErosEE| TR ThorEE
& R w|= HEE 0.021 0.019 0.020 0.016 0.016 0.015 0.016 0.016 0.015 0.014
& R H|E Bm oS 0.020 0.017 0.019 0.017 0.017 0.017 0.017 0.018 0.017 0.016
£ SR HlN X BH|E 0.020 0.018 0.020 0.017 0.016 0.014 0.014 0.014 0.014 0.016
£ R |k 8|1 0.021 0.019 0.021 0.018 0.018 0.016 0.019 0.019 0.017 0.015
+ B |t B 0.019 0.015 0.019 0.016 0.018 0.016 0.017 0.016 0.015 0.016
+ B K ] ES 0.017 0.016 0.016 0.015 0.017 0.019 0.019 0.020 0.019 0.019
+ B h|E B EX 0.017 0.017 0.017 0.015 0.016 0.016 0.016 0.017 0.015 0.015
+ B i & B|X 0.016 0.014 0.016 0.015 0.016 0.015 0.015 0.016 0.014 0.016
+ B &\ I |4 0.021 0.021 0.020 0.019 0.019 0.022 0.020 0.019 0.017 0.016
N R T w|ZET| 0019 0.017 0.020 0.016 0.017 0.016 0.015 0.015 0.014 0.015
mE WK B oFMaE 0.018 0.016 0.019 0.016 0.016 0.016 0018 0018 0.016 0.016
B ¥ H|H L] 0.020 0.017 0.020 0.016 0.018 0.017 0.016 0.017 0.015 0.015
B W Bl* 0.018 0018 0.019 0.016 0.017 0.015 0.016 0.017 0.016 0.016
ST EN |4 0018 0.015 0018 0.016 0.016 0.016 0.016 0.017 0.016 0.015
SR HES & 0018 0.016 0.019 0.017 0.018 0.017 0.017 0.019 0.018 0.017
B X |4 i I 0.019 0.017 0.019 0.017 0.017 0.016 0.016 0.016 0.015 0.016
b= = 8 |4E 0.019 0.019 0.019 0.017 0.018 0.018 0.017 0.018 0.017 0.017
W BT[N #|x 0.018 0.018 0018 0018 0.019 0.018 0.017 0.018 0.017 0.016
FEEE BT S = ES 0.020 0.020
thgE Z AT | B Blx 0.017 0.016 0.018 0.016 0.016 0.015




(15) ZEHNFRYE (1 BFHEDER 2 %RIME)

(B . 0. 10mg/m’LLF)

- AES B 1B FEHIEDER2%RIME (mg/m3)
et | g1 04E e | A1 94F Be | ERR204F B | ERi21 4 | T2 B | TRk | ERkoatE B | ERkos R | TRioe | TR21EE
£ R w|= Elx 0.057 0.056 0.051 0.039 0.047 0.036 0.043 0.059 0.040 0.039
€ R W@ @ | 0.054 0.045 0.047 0.043 0.048 0.040 0.043 0.056 0.042 0.042
% R w3 FH|E 0.052 0.055 0.045 0.040 0.047 0.036 0.043 0.051 0.040 0.042
£ R i ] [ 0.055 0.051 0.049 0.042 0.052 0.035 0.048 0.059 0.043 0.045
+ B |t ElE 0.051 0.050 0.046 0.039 0.054 0.037 0.045 0.058 0.045 0.048
+ B m|X =] ES 0.045 0.050 0.041 0.041 0.046 0.049 0.048 0.063 0.051 0.051
+ B WA 8 E|X 0.045 0.046 0.043 0.037 0.052 0.040 0.043 0.063 0.043 0.049
+ E e & B[X 0.047 0.053 0.042 0.039 0.051 0.040 0.042 0.063 0.047 0.047
+ E w|E |4 0.056 0.067 0.054 0.048 0.061 0.079 0.060 0.065 0.053 0.054
R N m|#ET 0.056 0.048 0.053 0.041 0.050 0.041 0.042 0.056 0.038 0.043
mE WK B OFE 0.051 0.044 0.047 0.039 0.052 0.037 0.051 0.062 0.043 0.043
B M R e |7 0.053 0.054 0.045 0.040 0.054 0.041 0.045 0.060 0.043 0.044
=T 1T Blx 0.047 0.047 0.044 0.037 0.047 0.036 0.043 0.054 0.041 0.039
=T A E|E 0.053 0.044 0.046 0.039 0.047 0.037 0.044 0.057 0.042 0.040
=T ES MES 0.048 0.044 0.047 0.038 0.055 0.043 0.046 0.062 0.044 0.047
B % iR E|E 0.057 0.051 0.053 0.038 0.049 0.037 0.044 0.055 0.040 0.044
2 O0E B[ | 1E 0.052 0.052 0.046 0.040 0.048 0.040 0.047 0.057 0.043 0.047
n o ET|A E 0.045 0.051 0.045 0.041 0.057 0.041 0.045 0.061 0.045 0.045
hHEEET| B I ES 0.052 0.057
b hE B BT | B Blx 0.050 0.052 0.045 0.041 0.052 0.036
(16) UM FIRYE (FEF1E) (BIEEE  15ug/mLUTF)
sm | mem PR E_F ¥ {8 (ug/md)
sl | Epr1e4E | FAR194 B | TRko0 s B | TRk | T rroo e | T rtos i | Erkoat i | ErkosE i | ER26E B | TR27EE
& R i@ m E[E 13.1 12.4 10.9
& R W/ I BH|E 10.1
& iR % 3 fES 9.8
& R H|& EB|E 115 10.6
& iR m|dt EB|E 11.3 10.5
+ B |t ElE 13.2 135 15.1 13.4 125
N T[N B 12,5 13.6 11.4 10.8
i B | Bl* 11.2 10.8 9.7
BN (B BES 9.9 95
m B WK B OF|HE 12.7 12.2 1.4
B ¥ R ve|a 13.1 13.0 11.6
=TI A E|E 11.3 11.9 11.6 13.4 11.3 12.0
b= B &|1E 10.0 10.1
N BT[N H|E 10.5 10.6
(17) #MEFRYDE (1 BEEDERII8%IE) (BiEE%E  3Bug/mLUTF)
- o =y 1B EHEDER98% (1 g/m3)
ik | ErgisE i | EroEE| Er2oEE| a2 £ TrosE| TRosEE| TrasE| TRsEE| TRi2eERE| ER2IEE
€ R W@ & H|E 35.7 30.4 28.4
& iR W/ I B|ME 27.4
£ R % 2| 26.8
% R ™A@ ] R 29.6 27.4
£ R [ ] R 31.3 28.8
+ B |t EBlE 315 31.6 38.4 39.0 338
N Ry T[N m|#ET 35.3 38.7 33.0 26.8
f B | Bl*x 34.3 318 273
B O | B ES 26.3 295
m B WK B OF|HE 37.6 31.2 29.9
B ¥ R e 7 384 34.2 305
=TT A F|E 37.2 30.5 33.1 3838 30.0 29.8
b= P E|1E 25.3 28.8
M BTN | 26.9 29.1
(18) FEA A2 vigibkFE (FEFH{E)
AT AER A& £ F 5 {E (ppmC)
Htel | g 848 e | TR 1948 B | T RR204E B | TERi21 4 | ERi224 B | ERi23 4 i | T4t B | ERios R | ER26 | ER21EE
£ R W= Blx 0.12 0.11 0.12 0.10 0.08 0.09 0.09 0.07 0.07 0.11
+ B m|X 1S 0.06 0.05 0.05 0.07 0.08 0.08 0.07 0.08 0.09 0.06
M AT #|ME 0.10 0.10 0.09 0.07 0.07 0.05 0.05 0.05 0.05 0.07




(19) EAZ viRibkE (6~BFIZEH T HFFHIE)

—-— awg |BE 6~ BB ITHETHIE (ppmC)
Hhtel | S g 848 e | 1948 B | T RR204E B | i1 4 | ERi22 4 B | ERi23 i | ERioatE i | ERios R | ER26 R | ER21EE
& R W= ElE 0.13 0.12 0.13 0.11 0.09 0.09 0.09 0.08 0.07 0.12
+ B X M|% 0.07 0.06 0.06 0.07 0.08 0.08 0.07 0.08 0.09 0.06
Mo TR [ 0.12 0.12 0.11 0.08 0.08 0.06 0.06 0.06 0.07 0.09

(200 *%2 > (FFH(E)

AT AER A& £ F 5 {E (ppmC)
Mol | 184 | TR0t R | TR204 R | TRt R | TRi224 R | T Ru20 4 R | T R4 4R | T Ri254 | TR26 4R | TR274E R
€ R m|= BlE 1.90 1.91 1.95 1.94 1.94 1.99 1.98 1.95 1.97 1.99
t B WX E1ES 1.82 1.82 1.84 1.85 1.86 1.85 1.87 1.90 1.89 1.90
M BT(R E 1.88 1.88 1.89 1.90 1.90 1.91 1.92 1.92 1.93 1.93

21) £REKE (FEFHE)

THET g |HE F F # fE (ppmC)
HIS | g 18 | Ak 194 FE | TR0 BE| k21 | TRk | PRk | Erko4 e iE | TA25 | TR0 | TRR21E
& R W= Bl=E 2.03 2.02 2.06 2.04 2.02 2.08 2.07 2.03 2.04 2.10
t B m[X =2 ES 1.88 1.88 1.89 1.92 1.94 1.92 1.94 1.97 1.98 1.96
M TR BT 1.98 1.98 1.98 1.97 1.97 1.95 1.96 1.96 1.99 2.00




4 BBHEHHARIEROEMAEHEROEFELL

() —EBeEFR (FEFHE)
5 R £ F 5 {E (ppm)
TRy BIER . . . . . . - - - -
Hbteh | S g 848 e | R 948 B | ERR204E B | i1 4 | ERi22 4 | ERi23 i | ERioatE i | ERios B | ERi26 B | ER21EE

£ R m|(BK B |& 0.033 0.034 0.031 0.027 0.028 0.026 0.026 0.026 0.025 0.023
® R (B BT (& 0.037 0.033 0.032 0.032 0.030 0.027 0.026 0.023 0.028 0.031
® R (B I [T 0.026 0.023 0.022 0.020 0.020 0.019 0.019 0.018

£ R W|(B)ER A |& 0.022 0.022

® R Ww{EW B (E 0.006 0.006

Famm|(B)EF4H |[1E 0.034 0.033 0.033 0.030 0.028 0.022 0.022 0.020 0.019 0.017
Q) ZBEEF (1 BHEHEOERI8%IE) (FREEELHE : 0. 04ppm~0. 06ppmLL )
- —_— A& 1B FHEDERIBWIE (ppm)

- = hig | E R8s | ER19ERE | TR20EE | TR ERE| TR22ERE | FR23ERE | FR24AEE| FRSERE| FR6ERE| TR2IERE

® R mER & (& 0.051 0.048 0.048 0.041 0.040 0.041 0.039 0.037 0.035 0.036
® R (B BT (& 0.052 0.048 0.048 0.047 0.043 0.041 0.041 0.035 0.049 0.049
® R (B I [T 0.041 0.038 0.039 0.036 0.037 0.033 0.034 0.031

% R W{(BER AT (& 0.035 0.033

® R Wm{(Ew B (E 0.011 0.011
Famm|[(B)FAT [ 0.054 0.054 0.056 0.054 0.050 0.042 0.038 0.033 0.035 0.031

Q) —FbER (FF5{E)

s | mem |PE £ ¥ B f& eom

IRt | P8R R TR 194 B | P AR204E BE | TR0t R | PRk 204F FE | T RL234E B | T AR 244F FE | T HLo5 4R R | T RR264EFE | T Ri2T 4R E
£ R MK B |& 0.050 0.047 0.040 0.028 0.026 0.023 0.021 0.022 0.019 0.017
£ R m{(B)F B | 0.063 0.050 0.044 0.041 0.033 0.029 0.022 0.020 0.027 0.027
& R m((BE)# I |£T 0.016 0.013 0.013 0.011 0.011 0.010 0.010 0.008
&
&

& R H|(B)ER a1 |7 0.019 0.018
& R Wm|(E B |fE 0.003 0.002
Framm|[(B)EFAT [ 0.035 0.030 0.029 0.024 0.029 0.029 0.026 0.023 0.021 0.017

(4) ZHEHALY (FFHIE)

DU R E % B B oo

IRt | P8R R TRk 194 B | P AR 20E BE | TR0t R | P AR 204F FE | T 234 B | T AR 244F FE | T HL25 4R R | FRR264EFE | T A2 1R E
2 R mER & (& 0.083 0.081 0.070 0.055 0.054 0.049 0.048 0.048 0.043 0.040
® R m((BE)R BT (& 0.100 0.083 0.076 0.072 0.063 0.056 0.048 0.044 0.054 0.058
® R m((BE)#E I |£T 0.041 0.036 0.035 0.031 0.032 0.029 0.029 0.026
&
&

& iR H|(B)ER a1 |’ 0.041 0.040
& R m|(Ew B |E 0.009 0.008
Famim|(BFLH |E 0.069 0.063 0.062 0.053 0.057 0.051 0.048 0.042 0.040 0.034

() —MibRE (FFHIE)

o | mes |8 £ £ B (B (e
gl | R 1a4E | FAR194E | T Rko0fE B | TRk | T oot e | T rros i | Erkoat i | Erkos s e | ERv264E B | FR27E
£ R m|BR B |& 038 0.8 0.7 0.6 0.6 0.6 0.6 05 05 0.4
£ R W|(B)H BT B 1.1 1.0 0.9 0.9 0.9 1.0 1.0 0.8 0.8 0.8
£ R W(B)E T |%£T 05 0.4 0.4 0.4 0.4 0.4 0.4 0.3
£ R W[(BE)ER 7 |7 0.5 0.5
& R M)W # |F 0.2 0.2
QI 7 1 (=D N 7N - 0.4 0.4 0.3 0.3 0.3
Bamm|(E)EFaH |[E 0.6 05 05 0.4 05 0.4 0.4 0.4 0.4 0.3
(6) —E&ibixkZFE (1 HFHEDFER 2 %ERIME) (GREE¥ . 10ppmLl T)
I R TETEHEOFR2EIME (pom)
‘ st | p1s4E | EAL104E | TRR20 5 B | TRt | T rioo e | T rios i | Erkoat i | Erkos i | ER264E | ER27EE
£ R W|(BR & |& 1.2 1.1 1.0 1.1 1.0 1.0 0.9 0.8 0.7 0.6
£ R W|(B)H B B 1.7 14 1.2 14 16 1.9 18 16 1.7 16
£ R W(B)E T |%£T 038 0.7 0.6 0.6 0.7 0.6 0.6 05
£ R W[(BE)ER 7 |7 0.8 0.8
& R MW # |F 04 0.3
QI 7 1 (€= D N 7N 0.7 0.6 05 0.5 0.6
Bamm|(E)EFad |[E 0.9 0.8 0.7 0.7 0.7 0.7 0.6 0.6 0.6 0.5




(7)) FietiFRYE (FFH{E)
- P F_F 5 fE (mg/md)
I | FrgigEE | FAUIOERE | TR0 | FR21EHE | TR0 | FR23EE | R4 | TRosEE | FR26EE | FR2IEE

£ R m|(BK B |& 0.024 0.024 0.021 0.016 0.016 0.015 0.016 0.016 0.015 0.015
£ R m((B)H B |B& 0.031 0.027 0.027 0.025 0.028 0.029 0.031 0.025 0.029 0.026
£ R m((B)E I |£T 0.022 0.018 0.020 0.017 0.017 0.018 0.018 0.018
£ R W|(B)ER A |& 0.020 0.019
® R Ww{EW B (E 0.013 0.012
Famm|(B)FLH |E 0.026 0.023 0.024 0.019 0.019 0.020 0.020 0.020 0.018 0.018

(8) FHEHFRYE (18 FHEDFR 2 %brIME)

(BEEE% . 0. 10mg/m’LLF)

1EEHEDER2%RIME (mg/m3)

wor | mem |2
il [ rgieans | Traosn | Troos | TmoE | TRoosE | TRosEE | ThoasE | TrsEE | Tresk | FrorEE
& R d|ER B & 0.056 0.058 0.050 0.037 0.046 0.035 0.038 0.048 0.036 0.038
& SR H|(E)E B |E 0.065 0.058 0.058 0.058 0.066 0.078 0.090 0.081 0.072 0.071
& R H|(B)EE ST |#T 0.058 0.051 0.045 0.042 0.047 0.039 0.045 0.058
& SR H|(BER BT |7 0.048 0.049
& R WEw ® | 0.038 0.034
Bamh|(B)FaH |1 0.062 0.059 0.052 0.044 0.050 0.043 0.047 0.060 0.042 0.045
9) #MIFRYE (EFHIE) (B . 15ug/mUTF)
wm | mem PR F_F ¥ {8 (ug/md)
sl | Fpr1e4E | FAR194 B | TRko0 s B | TRk | T rroo s e | T rtos i | Erkoat i | Erkos i | ER26E B | TR27EE
£ SR w|Ew ® | 10.2 8.6
Bamm|(E)FamE 14.6 12.8 115
(10) bR FIRYE (1 BFEHEDERI8%IE) (GEtEE# - 35 ug/mLT)
- i A& 1EEHEDERIB%IE (1eg/m3)
g | g1 | Eaiof | TR0 E| TR E | Taoos | Tross | Eroas | ERosEE| TR | ThorEE
& SR w|Ew ® | 28.8 25.0
Hamm|(EEam|E 38.2 34.1 28.7
(1) A2 viRibKkFE (FFH{E)
- AES Bg £ F 1 {E (ppmC)
it | eRisa | EaoEE | FrzoaE | TR EE | TRos k| TRoEE | TrasE | THosaE| TReak] TRoEE
£ R wlER & & 0.31 0.30 0.25 0.16 0.18 0.14 0.13 0.14 0.13 0.13
(12) FEA 2 Uirib/KkE (6~IBIZH T2 EFHIE)
_— axp | B2 6~9BFIZHITEHEFHIE (ppmC)
it | ERisg | TaoEE | FrzoaE | TR EE | TRos k| TRsEE | TrasE | THosaE| TReak| TRoEE
£ R mlER & & 0.27 0.26 0.21 0.14 0.17 0.13 0.12 0.12 0.12 0.12
(13) A4y (FFEHE)
- AES Bg £ F 1 {E (ppmC)
it | ERisa | FaoEE | FrzoaE | TR EE | TRos k| TRsEE | TrasE | THosaE| TReak] TRoEE
£ R mlER & @& 1.88 1.89 1.89 1.89 1.89 1.88 1.89 1.92 1.93 1.94
(14) &ibKkE (EFH{E)
_— i £ FE 5 f{E (ppmC)
Wil | e | TRoorE | EaoosE | Tao1aE | TrosE| ThossE | TrossE | Taosar | Taeesx| TRoEE
£ R mlER & & 2.19 2.19 2.14 2.06 2.07 2.02 2.02 2.06 2.06 207






